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Fill the following table with the correct answer:

Question Correct answer
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simplifies to :

Q1) The expression 2
5[e.2
8x

5 3
a) 4 x
X
5 3
b)2 4 x
X
5 3
4 x
c)
52
5 2
d) 8 x

Q) If 4= (—%)3 and B=3/0.027 ,then 154B isequalto

a) —1
b) 1
c) 2
d) -2
e) -3

Q3) If the real number x is more than 2 units from 4 but less than 7 units from 4, then

Q) |x—4|>2 or |x—4|<7
b) |x—4/>2 or |x—4[<7
¢) |x—4/>2 and |x—4/<7
d) 2<|x—4/<7
e)2<|x—4|<7
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Q4) Which one of the following statements is TRUE ?

a) every integer is either prime or composite

b) the multiplicative inverse of an irrational number is an irrational number
¢) the sum of two composite numbers is a composite number

d) the product of two prime numbers is a prime number

e) the reciprocal of — 2E is _B

Q5) If Az{—\/ﬁ, —%,—%, 0.67,+/5,0,1,2,3, -9, 51} . then A has

a) 7 rational numbers
b) 3 irrational numbers
¢) 3 prime numbers

d) 1 composite number
e) 1 perfect square

Q6) The property of real numbers illustrated in the statement (4.x).y=y.(4.x) 1is:

a) the commutative property of addition

b) the associative property of multiplication
c) the commutative property of multiplication
d) the distributive property

e) the inverse property of multiplication

Q7) Which one of the following is TRUE ?

a) the degree of the polynomial — xy + 2x2 y3 + (xy)3 -2 185
b) 5 is apolynomial of degree 1

c) V3 isnota polynomial

d) (2x+ 1)3 —8x’ isa polynomial of degree 2

2
e)xl

is a polynomial
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Q8) Which one of the following is FALSE ?

a) VA3 =43

B

) (-2)" =1

e) A3+32)°=5

Q9) Which one of the following is TRUE for any real number x ?

a) -X

b) \(-2x)?

c) 16x>

d) Y64x° =4|x|
o) (=2x)% =2x

QIO)If A={z|z=x-
ANB =

a) ¢

b) B

c) A

d) {—6,-4}
e) {—6,—4,-2}
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QI If 4x% - 12xy + ky2 is a perfect square trinomial, then £ is equal to

a) 3
b) 9
c) 2
d) 4
e) 8

Q12) One factor of 6x> +xy—2y2 —6x—4y is

a)2x+y-2
b)2x+y+2
c)2x—y-2
d)3x+y-2
e)3x—y-2

-2 -2

Q13) The expression a =b” simplifies to
a+b

a—>b

a’b?

a)
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Q14) The expression

1 x2=2x+1 2x*—x-1
+ -

x2+3

a) —

2x°+Tx+3
x2 42

b) —

2x°+x-1

2x% +1

2x% —x+2

2x2 +x-1
d) —
x“+2

¢) x2 —-x-1

x2 +2x+1

Ql15) If

|

=(WH + LW + HL) then:

S_w

a)H:2

WL

£+LW

by H =2
W+ L

_S-Lw
oW +2L
_S-2LW
2w +2L
e) Non of these

c) H

d) H

2¢+1 x24x-6  x*-2x
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simplifies to



Q16) The scientific notation of the product (21x 10_7)-(200000) is

a). 42x1072
b) 4.2
¢) 0.42
d) 42x1073

e)4.2x107!

Q17) The following expression  3+/125x> — 5|x|\/§ —54/20x7
Simplifies to:

a) 10|x|\/§

b) —2x/5

¢) 20xy/2

d)0

e) Non of the these

QI8) If 1<x<2, then ‘SX - 3‘ - ‘X - 2‘ can be written without absolute value as:

a) 6x—35
b) 4x—-5
c)—4x+1
d)—4x+5
e) 5—6x
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Q19) Which of the following is TRUE:

X )
+1= has one real solution

x—4 x—4

a)

b) 2|3x — 1| +14 =2 has two real solutions

o 2er 2205

1s an identity equation

d) — = 3 1s a conditional equation

9 : L .
e)2+——= Y isa contradiction equation

—2 -3
Q20) (— 3x_3y4 ) (2_1 xy0 ) simplifies to:

e) Non of these

[8]



